|
i
9
L

1 3)
(x—6)><§—51;<(x+zL
—6=1 -
x—6=10x+ 3

x—_§
T2




tolet.

<l

-

ul




2
3. 3{-x+2(+)-4}=8-srdWtr=aD W a-F o G2
P30

@ -2 @ -1 (@)0 @ 1 ® 2

3{-x+2(x+1)-4} =18-5x
3(-x+2x+2-4)=18-5x
3(x—2)=18-5x
3x—6=18-5x

8x =24

x=3




© -3 @ -1 ® 1 @3

= ~5(r+1) 21 34} £ (x+ 1)

4

® 5

= f—(3—a)

) 5—2(x—1):_5(x_|_1)
.'._x:_4

ii) %(x+1):jzc—(3—a)
A(x+1) = 3x-12(3 - a)
~12(3-a) =0
SLoa=3




%(x—ﬁy)+2(x—2) = ley+4 o, 20x - 26y ©] = F-shofzt.
=

[ 2
> =g 64

~&B

%(x—ﬁy)+2(x—2):;ly+4
2x—12y+8x—-16 =y + 16
10x — 13y = 32

© 20x — 26y = 64




